
Appendix 5.3: Tables of moderating effects  (i.e. the non significant moderating effects)  

Table 5.4.Level 1 moderators of hassles-fruit consumption relationship (within 
person N=2639, between person N= 191) 

MRCM Effect Coefficient      SE        t         p 

Level 1 interactions     

Intercept (00ߛ) 0.000 28.663 0.1256 3.6013 

Hassles (10ߛ) 0.980 0.026 0.0792 0.0020 

WIF (20ߛ) -0.225 1.216- 0.0115 0.0140 

Hassles* WIF (30ߛ) -0.900 1.127- 0.0072 0.0009 

     

Intercept (00ߛ) 0.000 28.663 0.1256 3.6013 

Hassles (10ߛ) 0.402 0.839 0.0801 0.0672 

FIW (20ߛ) -0.264 1.118- 0.0136 0.0152 

Hassles* FIW (30ߛ) -0.178 1.347- 0.0086 0.0116 

     

Intercept (00ߛ) 0.000 28.663 0.1256 3.6013 

Hassles (10ߛ) -0.932 0.085- 0.0760 0.0064 

Demands (20ߛ) -0.495 0.682- 0.0154 0.0105 

Hassles* demands (30ߛ) -0.847 0.193- 0.0094 0.0018 

     

Intercept (00ߛ) 0.000 28.663 0.1256 3.6013 

Hassles (10ߛ) 0.825 0.222 0.0888 0.0197 

Resources (20ߛ) -0.738 0.334- 0.0113 0.0037 

Hassles* resources (30ߛ) -0.468 0.726- 0.0085 0.0062 

     

Intercept (00ߛ) 0.000 28.663 0.1256 3.6013 

Demands (10ߛ) -0.621 0.495- 0.0314 0.0155 



Resources (20ߛ) -0.980 0.000- 0.0208 0.0000 

Demands*resources (30ߛ) 0.956 2.089 0.0039 0.0002 

 

Table 5.6. Level 1 moderators of work related hassles-fat consumption relationship 
(within person N=2639, between person N= 191) 

MRCM effect Coefficient SE    t     p 

Level 1 interaction     

intercept(00ߛ) 0.000 25.989 0.1386 3.6025 

Work related hassles(10ߛ) 0.467 0.727 0.1704 0.1239 

WIF(20ߛ) -0.380 0.878- 0.0110 0.00096 

WIF∗ work related hassles (30ߛ) -0.697 0.389- 0.0014 0.0056 

     

Intercept (00ߛ) 0.000 25.989 0.1386 3.6024 

Work related hassles (10ߛ) 0.028 2.199 0.1396 0.3070 

FIW(20ߛ) -0.189 1.315- 0.0136 0.0180 

FIW∗ work related hassles (30ߛ) -0.062 1.865- 0.0159 0.0029 

     

Intercept(00ߛ) 0.000 25.990 0.1386 3.6025 

Work-hassles (10ߛ) 0.523 0.639 0.2136 0.1364 

Demands (20ߛ) -0.442 0.769- 0.0127 0.0098 

Demands∗ work related hassles(30ߛ) -0.688 0.401- 0.0208 0.0083 

     

Intercept (00ߛ) 0.000 25.990 0.1386 3.6025 

Work-hassles(10ߛ) 0.704 0.380 0.2044 0.0775 

Resources (20ߛ) -0.626 0.486- 0.0127 0.0062 

Resources*work related hassles (30ߛ) -0.884 0.146- 0.0202 0.0029 

 



Table 5.32. Level 1 moderators of stressors-smoking relations (within person N=375, 
between person N=31) 

MRCM Effect Coefficient      SE        t        p 

Level 1 interactions     

Intercept (00ߛ) 0.000 11.118 0.9280 10.3188 

Hassles (10ߛ) -0.273 1.100- 0.8274 0.9100 

WIF (20ߛ) -0.569 0.569- 0.0670 0.0381 

Hassles* WIF (30ߛ) 0.251 1.150 0.0599 0.0689 

     

Intercept (00ߛ) 0.000 11.119 0.9280 10.3189 

Hassles (10ߛ) -0.700 0.385- 0.6847 0.2636 

FIW (20ߛ) -0.399 0.844- 0.0783 0.0661 

Hassles* FIW (30ߛ) -0.983 0.022- 0.0600 0.0013 

     

Intercept (00ߛ) 0.000 11.119 0.9280 10.3189 

Hassles (10ߛ) -0.357 0.923- 0.9007 0.8314 

Demands (20ߛ) -0.415 0.816- 0.0814 0.0664 

Hassles* demands (30ߛ) 0.360 0.917 0.0855 0.0784 

     

Intercept (00ߛ) 0.000 11.120 0.9280 10.3189 

Hassles (10ߛ) -0.549 0.599- 0.6645 0.3982 

Resources (20ߛ) -0.479 0.708- 0.0550 0.0389 

Hassles* resources (30ߛ) 0.865 0.171 0.0620 0.0106 

Intercept (00ߛ) 0.000 11.119 0.9280 10.3189 

Demands (10ߛ) 0.497 0.680 0.1630 0.1109 

Resources (20ߛ) -0.214 1.246- 0.1255 0.1564 

Demands*resources (30ߛ) 0.791 0.265 0.0186 0.0049 



Table 5.34. Level 1 moderators of work related hassles- smoking relationship 
(within person N=375, between person N=31) 

MRCM effect Coefficient SE t p 

Level 1 interaction     

intercept(00ߛ) 0.000 9.891 1.0272 10.1600 

Work related hassles(10ߛ) -0.585 0.547- 0.7039 0.3850 

WIF(20ߛ) 0.542 0.611 0.0539 0.0329 

WIF∗ work related hassles (30ߛ) 0.653 0.450 0.0560 0.0252 

     

Intercept (00ߛ) 0.000 9.890 1.0272 10.1594 

Work-hassles (10ߛ) 0.283 1.078 0.6474 0.6976 

FIW(20ߛ) -0.438 0.777- 0.0822 0.0638 

FIW∗ work related hassles (30ߛ) -0.487 0.696- 0.0757 0.0527 

     

Intercept(00ߛ) 0.000 9.890 1.0272 10.1594 

Work-hassles (10ߛ) 0.513 0.656 1.4978 0.9819 

Demands (20ߛ) -0.995 0.006- 0.0718 0.0004 

Demands∗ work related hassles(30ߛ) 0.411 0.824- 0.1204 0.0992 

     

Intercept (00ߛ) 0.000 9.891 1.0272 10.1600 

Work-hassles(10ߛ) -0.607 0.515- 1.1896 0.9763 

Resources (20ߛ) -0.630 0.481- 0.0550 0.0264 

Resources*work related hassles (30ߛ) 0.618 0.498 0.1948 0.0971 

 

 

 


